RETAN 2RFERX ER 22=a 01

1. ROFERZMT. (SH30, AT, BR1540%, CH34)

(1) a?=4 (2)  22=9
(3) 22=0 (4)  2?2=100
(5)  22=38 (6) 2?2=18
(1) 22=20 (8) 22=48
9  2?=121 (10) 2% =162
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2. ROFGEAZEMT. (SH30F, Afks558, B1440F, C#% 34 )

1 22=1 (2) 22=16
(3) 22=0 (4)  2%2=81
(5)  a2=12 6) a2=24
(1 22=50 ®8) 22=72
(9 2?=169 (10)  2?> =216
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RETAN 2XAER BER z22=a 01 MFBEEHR

1. ROFERZMT. (SH30, AT, BR1540%, CH34)

(1) 22=4 (2) 22=9

(3) z2=0 (4)  22=100
r = 0 x = =4+/100
r = +10

Y2 0 DIFEFARIZ 0 DA,
* 2RI ATEZD 1 ORI L2,

B L),

(5) 2 =38 (6) z? =18

T +v8 x = =+V18

x = +2v2 z = =432
(7 22=20 (8) 22 =148

x ++/20 r = +48

x = 4+2v5 xr = =443
9  22=121 (10) 22 =162

r = $V121 r = $v162

r = =11 z = +49vV2
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2. ROFGEAZEMT. (SH30F, Afks558, B1440F, C#% 34 )

W ?=1 (2  a?=16
x = +V1 xr = =+V16
r = =1 r = =+4
22 = 0 x = +81
(5) 2 =12 (6) x? =24
x = +V12 x = +V2A4
xr = +2V3 x = £2V6
) z2 =50 (8) 2 =172
x = =£v50 x = V72
x = +5V2 z = 462
(9) 22 =169 (10) 22 =216
r = +v169 r = £v216
r = 413 x = +6v6
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